Physics 606: Homework #1

Due: Tuesday Feb 9, 2016

Jackson: Problems 1.1,1.5,1.6,1.12,and 1.13
Also,

Prob. 1A) Consider electrostatics in one dimension; i.e., p = p(x), and
O =O(x). (1) What is the Dirichilet Green’s function for the domain 0 < x<5hH?
(i1) What is the one-dimensional analog to Eq. (1.44)

Prob 1B) The potential surrounding a pomt charge, q, iocated at position x
in a plasma is given by,

g exp(w|x - x(,l IA)
47t£{,|x—x0| )

P (x) =

where A4 is known as the Debye length. a) Find the charge density induced
in the plasma. b) Show that it is proportional to the local potential.

Read “The Green on Green Functions” in the HNDO directory of the course
web site,
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